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Note : Attempt questions from each Section as per

instructions given.

Section—A

Note : Answer any two questions from this Section.

1.

20 each
Consider a pure exchange economy with two
consumers (1, 2) and two goods (x,y). The
endowments are w! =(2,4) and w? =(4,3).

Consumers are otherwise identical and they
11
have utility function u(x, y) = x3y3.

(a) Construct an Edgeworth Box for this
economy.

P.T.O.
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(b) Find all Pareto-optimal allocations and

graph them in the Edgeworth Box.

(c) Solve for the equilibrium and check if the

competitive equilibrium is Pareto optimal.

(a) How do firms under Bertrand model arrive
at the equilibrium price ? In what way is

this model different from that of Cournot’s ?
(b) The linear demand functions faced by two
firms are given as :
Y =a —bp +cp
Yy =@y +cp—byp,

Show that the quantities are always lower
and prices always higher in Cournot
competition.

Discuss the views of Pigou on economic welfare.

State some arguments to refute his views.

A monopolist operates with two plants A and B.
The marginal costs of the two plants are given
by 360 —14x —2x?> and 310-15x - x? with x
representing units of output produced by each

plant. If the price of the product is given by
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396 — 4x%, calculate the overall marginal cost
and determine profit maximising output in each

plant.

Section—B

Note : Answer any five questions from this

Section. 12 each

The payoff matrix of strategies adopted in a run

and hide game between a hunter and a prey is

given as :
Prey .
Run Hide
Hunter
Run (60, 20) 0, 0)
Hide 0, 0) (20, 60)

Find the mixed strategy Nash equilibrium of
the game.

Explain how Shephard’s lemma can be used to
derive the production function from the cost
function.

Write short notes on any two of the following :
(a) Baumol’s alternative theory of the firm

(b) Producer’s surplus

(c) Second welfare theorem

P.T.O.
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Suppose that the probability of an accident is
0.03. The average cost imposed due to it is

¥ 1,00,000. Assume that the average car driver
has preferences given by u(I) = VI .
(a) Assuming that this person earns ¥ 1,00,000

per year in income, calculate his expected

utility if he buys no insurance.

(b) Calculate the cost of this policy to the
insurance company.

Differentiate between any two of the following :

(a) Slutsky and Hicksian approach to the

effect of price changes
(b) Public goods and merit goods

(¢) Nash equilibrium and sub-game perfect

equilibrium

. Consider a consumer with a 2-period horizon.

His utility function is u# =c¢;c, and actual
income is Y; =10,000 and expected income is
Y, =5,250. If the rate of interest is 5% per

annum, find his optimal consumption

expenditure.



11.

12.
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There are N people living in a village engaged
in farming (F) and pottery (T). The utility
function of each of these people is given to be
U; = (F)?T;. If the production possibility
frontier is depicted by F2 + 3T2 = 1800, find the

Pareto-optimal provision of T.

1 2
Given the utility function u = x3y3, where x

and y are two goods and p, and p, denote their

prices. If M is the income of the consumer,
derive the expenditure function.

P.T.O.
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